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Extracting — P7Bn

OVERVIEW

X995 17 ruled that if one threw a clod of earth at a date palm and dislodged dates
from the palm, he is liable for w?In and paon. There is a dispute between >"w1 and
n190IN as to what is the 79877 ax of the 77910 of Pon.

= YTT DTN MNT YUY
s"w4 explained that P17 is a 7790 of w7 (threshing) —

moon disagrees with *"'w1a
= 29911 0IVN 29N ADINT IMIN (x,0x apy) YIINNN SNDIYAT ON 19939 DYDY

And the n'9 has a difficulty with >"w79, for in the end of ¥>13%7 P79, the X7

states that milking (a cow) is liable on account of Pap» -
- YPAP S9ITIA NIN NYWIT PN 132957 PIYN Y9 523 3119PY 9N NN WTT D191 710 ON)

And if P97 is a 779N of w7, why is 211 29117; for X211 stated later regarding one
who is squeezing a %1, that according to the J12 there is no 7247, except by
ppap Y1773 (things which grow from the ground)® —

mooIn anticipates (and rejects) a possible answer to this question on *"w75:
= YPAP ODYT N RIT 1329 2909 T NINY PNIYN RPITT 991 PPN

And one cannot answer that it is specifically regarding the 1%n, which is a

fish, that the 3327 exempt it from ;7v°7 since it is not ¥pPap 91793 (it lives in the sea) -
= (3,1 97 parey) 472991 992 YWY NDMTI SYPAP DTN NN NPT 22NN A9INa YaN

However regarding 2%, there is a 727 211, for a cow is considered ypap “»17°3
as is evident in the beginning of J°39w» ®53 P75 —

mooIn rejects this answer on *"wId:

! 791 1"7. Just as by threshing the kernel is removed from the chaff, similarly by p75n he is extracting something
from its source.
2 This makes 271 a 77210 of w7 (via p79n which is a 77710 of w7).
3 x,7v. The ®n»"2 there cites a npY7nn regarding one who is squeezing (¥X197) the 117M to extract its blood; 7717 "
maintains he is liable for this 7y°%9 for it is included in 7w>7 and the 1127 maintain 7w>7 5522 7v°¥0 PR, because as X2
explained that Ypap "217°32 ROX AW T PX .
4 How can 2971 be a 77710 (of 791 which is a 77910) of w7, when the 13271 maintain (according to X27) that w7 X
YPIp *217°32 X9R and a cow is (seemingly) not ¥pap 217°3?!
5> Animals are considered ¥p1p *217°3 since they are fed (and grow) from the ypp.
¢ This would seemingly answer the question on >"wA that since a 7n72 is ¥pp 2173, therefore one who is 2971 a a2
can be p19n oywn 20, which is a 7790 of w.
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19UNAY 19301017 1N 1359557 [DIVN 19297 NAYL TN Y¥] XY
For [perforce you must say the reason of the 137 (who maintain R?X w7 PX

YpP 71772) is because] they derive the 19%5n of 7w°7 from the herbs in the 1o,

which were used for dyes, and therefore they conclude -
- Y0P S9PAA NIN NYIT PNT
That ppap 217932 RPR 77 PN like these 171mm0 were, so -
- Y249 Y9115 N1INA NIXWN RY ¥PIPN 13 WA 91N 937 22y
A nm2 cannot be considered ¥pap 991793 when compared to the im0, which
actually grow from the ¥pap —

mooIn proves that cows are not included in ¥p7p 17 regarding nw»7:
= (x,09 xp¥n 833) $DIVIIDN NN 99IYWNA 1999INTD

As the Xn°°72 states in 299919577 DX 2% P9 -
- 5913 1219719 225NN RY 919 Y3 4N 12 HAIN HINDY Y97 S911) KDY Thi) T i

Just as w47 is unique that the threshing is done in ¥pPap 2173 and a worker can
eat it (while he is threshing), so also all, etc. (types of work that are done with

ypIpP "7 a worker can eat from them), excluding milking and making cheese
which are not ¥p7p 173, so a worker may not eat from them while he is doing that work —

mooIN rejects a possible explanation of *"wA:
—19299N 109999 M9 NN 5290 NINN YINNNT RNIAT 9D P

And it is awkward to say that the Xn>>92 in ¥o13%7 (which states that 2977 is 2
P91 0Wwn) is according to 3''7 who later argues with the j12-.

mooIn offers an alternate view as to the ax of pon:
=PO9N1M 110 NN 1PN/ ANNYIT PNNN DIYN 29N PIONT ON 12°39D AN

And it is the view of the n''= that pap2 is 2°°% on account of smoothing (prnn),

7 The X713 in P217°v, which considered animals ¥pp *7217%, was in a context of a 9921 91 973 which includes XX 9p2
75wy 1, we are 727 from this anything which is a similar ¥pap ¥217°3 as 79w 1 XX P2 are; however here the 79X
of w7 is derived exclusively from 7°110 (growing plants), a cow cannot be included in this context.
8 The a0 writes (7,72 [R¥N] 2°727) W>72 MW 201N R? (do not muzzle an ox while it is threshing), we derive that the
same rule applies to a worker, that he may eat from the produce while he is working with it.
9 It is clear from that X that 2911 is not considered vpp 177, so therefore according to the 1337 who maintain
(according to X27) that ¥pap "717°32 ROX 7w7 X, this will exclude 2717, so how can *"w7 maintain that P97 is a
w7 779N if 2905 is poon own 21 and paon is WT 2wn 200 but Ypap IR ROXR W07 PR, not with cows. See
“Thinking it over’ # 1.
10 x,7v. See footnote # 3 that >" argues with the 13127 and maintains that 7w>7 applies even by not ypap 2173, This
would answer the question on >"w1 that we can maintain w7 0wn» P91 (and 2917 is also w7/pon own 3»1). However
mooIn insists that to say that a Xn*72 ano follows the opinion of a 71> (°"1) is a pm7.
1 One of the M2X?1 Max in the 7wn (on X,3v) is pmanm; this refers to smoothing out the hide by removing the hair
or wool from it.
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for when he milks he is smoothing the udder and leveling it —

mooIn cites a dissenting view:
= DYTPN PNY OTX 2ADIN 199N (3,177 mps) NAN PIDIT PN 1352997 NI PPN)

And the "1 disagrees with the n"3, for HXmw X " ruled in nvam pas, ‘a

person may milk directly into a pot of food -
= DPN PINY 9 NN NP TIND Y NN BN 1D NIYPN TINY XY YaN

But not into an empty bowl’; but according to the n'1 that 2571 is prinn own,
what difference is there whether he is milking into a pot or whether he is

milking into a bowl (in either case he is prnan) -
= 1259)N 2YUN 12192 NPNYWI RIPIYNT 929V YNN DIVIPN WINaY)

However according to s"w-p it makes sense, for initially when the milk was in

the udder it is consider food (?2IR)
= Ba3nwaw W 907 XY DOIN N 1) (BRNYNT) 11PN TIND ADInw)

And when he milks it directly into a pot of food it is (now) also food, so it is not
similar to w7 where it changed from stalks (which are not edible) to grain which is edible.

N1D0IN comments on °"YID:
= (x,0 Mmanm) 29 9y N 2992 9INNT NN 2295 NAYN VIVIPN V192997 AN

And it appears to '0'n that according to >"w=p the 7o%7 is like ' that there is

7w T even by not ¥pp N7, for the X1n) states in 55 B AN Pp -
= NI 79 9NNDI 169995 RNYL NN NAYA AVN PN 15NN 993291 29 99N

o172 %27 ruled, ‘one who is 733 may suckle milk directly from a goat!” on naw;

what is the reason he is permitted to do so; he is 992 in an unusual manner -
- 199935495 %299 XNAYH 90 29 ONN PI0) 181339 1913 XY ¥ 017192

12 When the milk is in the 77 it is considered as part of the 77, which is an 921X (not a Apwn).
13 Others amend it to read Xnw? (instead of XNwnT).
14 However when he milks into an empty 779p, it changes from food to drink, which is similar to w7.
15 7173 means one who is sighing from pain. See >"w1 there; 127 2801 9217 .3 "7,
16 mpoin already cited a X m3 that 2711 is pon own 20 However this is not a ‘regular’ [p79n] 2911, where one milks
with his hands, here however he is suckling directly from the udder, therefore there is no Xn»7R7 MO°R, only an MoK
11277 (like every X2 which is performed 7> Inx?5).
17 See »"wn there; 1v 290 RV ARIDT DWWH .25 P10 "7
'8 The person is in pain and since it is 7 R?3 P97 it is only an 132772 MO, S0 1127 1773 KD WY 2P,
19 9111 " offered a dual explanation why he may be 17, one because it is 7 7X?> and the other because it is @1Pn2
7vy; indicating that if there would be only one of them (whether 7> 2nX?> or 7y¥ 01pn2) alone, it would still be oK.
According to 7777 'Y who maintains YpIp *217°32 R7W 12°5K 7Ww°7 W1 s0 2737 is a RN™RT 72877, therefore in order for it
to be 1M we require both 107 (that it is 7 2nX%2 and Wy 01pna). However according to the 13127 that ROX Aw7 PR
YPIP Y217°32 so 27 is only 113771 MOR, therefore why would 0117 ' require both o°1n°7; he should be allowed to
milk the goat normally, for since it is only 71277 710K, they were not X 2172 7. This proves that 0111 " (and 29
Ao who rules like 011°7» ") follows the view of 7717 . See ‘Thinking it over’ # 2.

3

TosfosInEnglish.com



P91 1'"7 "0 2,5y naw .7"'02

And when there is pain the 3129 did not make an injunction’. This concludes the
quote of 011 1. And n©Y° 27 there ruled that the 75977 is like ©119% 2.

mooIN rejects an alternate explanation:
= P99125 N 192971 NON 19290 GNT 91217 AN PPN)

And nMdoIn does not agree that we should say that even according to the 1129
(who maintain ¥pa3 91732 KPR w7 °R), nevertheless 2717 is 332972 =R for it

seems like papn -
1IN 0122 T INNRYD YNIN NIONT DIVN KIN Y XY 133979 NN NVPON N7 2) Yy qN)

And (additionally) even though 27 is only 3j3397» =08, nevertheless it is
permissible for the n1 to be 2217 P11° only because there are two 0°1n°7; that it is

73 RDD and it is WX 212320 this explanation is not acceptable.?!
[920py 7''7 LR, 75P N1R2Y "'OIM papn M7 R,8 NI2Ins 'O )

SUMMARY

Pon is either a 7720 of w7 (according to *"wM) or prnn (according to the n'"A). >"wA
rules like °"9 that ¥pap “917°32 XOw 19°0KR 7w 7 w° and therefore a naw is 92172 0
only because it 7> K72 and Y PRI

THINKING IT OVER

1. mooIn challenges " that pa9n is W7 W since 2210 is PIon DWwn, but [w°T PR
YPIP M2 RYR, as we see regarding the 119, Why was it necessary for msoin to
mention the 1751, when Mo could have simply asked, how can 2711 be wn 21
(w7) P19n, when the X3 excludes?? 2731 from w7212

2. mooIn proves that (according to >"w1) the 71397 is like °"1 from the rulings of "
D1 and Ao 27.2* However seemingly msoin could prove it from the X3\Rn>>12
in ¥°13177,%° which states that 291 is P97 own 270126

20 This assumption would reject the previous proof that >"wA rules like "9, it is possible that even according to the
1127 that the 2917 MO°K is not XN™MRT (since YpIP 217°32 K2R 7w 7 1X), nevertheless the 1121 will not allow 72°%1 even
V¥ 2172 unless it is also 7> AR,
2l Generally when something is 90X only 11277%, it is 90w if it is done T =nR?3, or if it is 7w¥ mpn3; we do not
require both o nr.
22 See footnote # 9.
23 See 0" and DAI2AK 9.
24 See footnote # 19.
25 See footnote # 2.
26 See 277 WY,
4

TosfosInEnglish.com



